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1%] o 2% o 3%l o
1. 7lE8 4 10 60
2. 72 150 500 2,000
3. H|2 25 50 200
4. 2 4 10 20
5. & 200 400 700
6. 67t3 = 5 15 40
7. of¢d 300 600 2,000
8. Lz 100 200 500
9 E2 400 400 800
10. ®7|2l5ste 10 10 30
1. Z2|2=22|ulole|=o|Hd 1 4 12
12. Al ot 2 2 120
13, ®H = 4 4 20
14, = 1 1 3
15. £ 20 20 60
16. off & ¢l i 50 50 340
17. a2 15 15 45
18. Al B2 & Et5L2(TPH) 500 800 2,000
19. E2|Z2 2 20| 2 2l(TCE) 8 8 40
20. Bl E2}Z 2 2of = 2l (PCE) 4 4 25
21, #ll 7= (g)m 2l 0.7 2 7
22. 12-C| 22 20| et 5 7 70
23. clo|SAl(Fateg =atsich 160 340 1,000
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